

**HEARTLAND - YORKT**  
 Wednesday, February 11, 2026 -- 12:00 pm  
 Pre-Sort

**NOTES...**

---

<b>Seq#</b>	<b>Lot#</b>	<b>Pen#</b>	<b>Head#</b>	<b>Sex</b>	<b>Breed</b>	<b>Avg. Wt.</b>	<b>Total Wt.</b>	<b>Consignor</b>
1	1	202S	2	STRS	YEARLING BULL	1080	2160	
2	2	T654	1	HFRS	SINGLE	736	736	
3	3	200D	1	STRS	BELLY NUT	664	664	
4	4	E31B	5	STRS	BLACK	864	4320	
5	5	E18B	30	STRS	BLACK	777	23311	
6	6	E25B	43	STRS	BLACK	710	30516	
7	7	E23B	58	STRS	BLACK	641	37162	
8	8	E14B	48	STRS	BLACK	566	27160	
9	9	E16B	24	STRS	BLACK	496	11908	
10	10	E33B	6	STRS	BLACK	414	2483	
11	11	E16A	1	STRS	BRITISH BULL	833	833	
12	12	E36J	3	STRS	BRITISH	888	2665	
13	13	143A	5	STRS	BRITISH BULL	743	3713	
14	14	137J	8	STRS	BRITISH	725	5798	
15	15	135A	3	STRS	BRITISH BULL	653	1958	
16	16	T82	1	STRS	BRITISH	549	549	
17	17	E24Z	4	STRS	BRITISH BULL	557	2229	
18	18	E27J	4	STRS	BRITISH	556	2223	
19	19	139Z	7	STRS	BRITISH BULL	449	3140	
20	20	E34J	11	STRS	BRITISH	449	4943	
21	21	206B	2	STRS	BRITISH BULL	355	710	
22	22	E36T	3	STRS	BUCKSKIN	960	2881	
23	23	E32T	12	STRS	BUCKSKIN	855	10256	
24	24	E20T	9	STRS	BUCKSKIN	777	6992	
25	25	E26T	16	STRS	BUCKSKIN	722	11558	
26	26	E23T	16	STRS	BUCKSKIN	636	10172	
27	27	E33T	6	STRS	BUCKSKIN	582	3491	
28	28	E22T	3	STRS	BUCKSKIN	422	1267	
29	29	E11C	1	STRS	CHAR	826	826	
30	30	E30C	2	STRS	CHAR	789	1578	
31	31	E15C	9	STRS	CHAR	698	6278	
32	32	E25C	17	STRS	CHAR	636	10810	
33	33	E17C	11	STRS	CHAR	565	6217	
34	34	E34C	8	STRS	CHAR	485	3880	

35	35	206U	3	STRS	CROSS BRED	829	2487	
36	36	207U	17	STRS	CROSS BRED	721	12249	
37	37	E15U	27	STRS	CROSS BRED	573	15481	
38	38	141U	4	STRS	CROSS BRED	474	1894	
39	39	143D	1	STRS	EXOTIC BULLS	1080	1080	
40	40	E21A	3	STRS	EXOTIC BULLS	941	2823	
41	41	E28Y	1	STRS	EXOTIC	873	873	
42	42	E19B	3	STRS	EXOTIC BULLS	854	2563	
43	43	E27Y	7	STRS	EXOTIC	771	5396	
44	44	205Z	22	STRS	EXOTIC BULL	746	16411	
45	45	E22Y	18	STRS	EXOTIC	716	12892	
46	46	E13Y	39	STRS	EXOTIC	641	24997	
47	47	E21Z	38	STRS	EXOTIC BULL	654	24864	
48	48	208X	10	STRS	EXOTIC	614	6145	
49	49	E19Y	43	STRS	EXOTIC	561	24129	
50	50	E38Z	21	STRS	EXOTIC BULL	552	11586	
51	51	E31Y	25	STRS	EXOTIC X	487	12175	
52	52	207C	13	STRS	EXOTIC	466	6062	
53	53	205L	20	STRS	EXOTIC BULL	451	9029	
54	54	E32Y	12	STRS	EXOTIC X	414	4973	
55	55	143M	4	STRS	EXOTIC	380	1519	
56	56	139G	1	STRS	GALLOWAY	567	567	
57	57	206G	1	STRS	GALLOWAY	499	499	
58	58	E31H	1	STRS	HEREFORD	725	725	
59	59	208P	6	STRS	HEREFORD	637	3823	
60	60	E33H	6	STRS	HEREFORD	544	3261	
61	61	E18H	2	STRS	HEREFORD	490	981	
62	62	206R	1	STRS	HORNS	854	854	
63	63	139R	1	STRS	HORNS	765	765	
64	64	143L	3	STRS	LATE CUT	694	2082	
65	65	200L	2	STRS	LITTLE	292	584	
66	66	207L	4	STRS	LITTLE	342	1367	
67	67	143O	2	STRS	LONGHORN	570	1139	
68	68	143X	1	STRS	LONGHORN	441	441	
69	69	206W	1	STRS	LONGHORN	395	395	
70	70	200R	11	STRS	ONE OWNER/SHORTHORN	900	9896	
71	71	E16R	12	STRS	RED ANGUS	701	8410	
72	72	E11R	7	STRS	RED ANGUS	646	4521	
73	73	E17R	14	STRS	RED ANGUS	568	7955	
74	74	E36R	7	STRS	RED ANGUS	497	3476	
75	75	137R	1	STRS	RED ANGUS	413	413	
76	76	E15X	3	STRS	RED/BLK EXOTIC	1032	3096	
77	77	E38X	7	STRS	RED/BLK EXOTIC	928	6493	
78	78	E34X	25	STRS	RED/BLK EXOTIC	868	21700	

79	79	E29X	27	STRS	RED/BLK EXOTIC	779	21043
80	80	E30X	22	STRS	RED/BLK EXOTIC	711	15638
81	81	E12X	19	STRS	RED/BLK EXOTIC	633	12034
82	82	E28X	15	STRS	RED/BLK EXOTIC	562	8427
83	83	E26X	16	STRS	RED/BLK EXOTIC	489	7819
84	84	E14G	7	STRS	SHORTHORN	900	6299
85	85	141R	2	STRS	SHORTHORN/ROAN	654	1309
86	86	207H	1	STRS	SHORTHORN/ROAN	545	545
87	87	T78	1	STRS	SINGLE	1012	1012
88	88	T664	1	STRS	SINGLE	775	775
89	89	T79	1	STRS	SINGLE	720	720
90	90	T76	1	STRS	SINGLE	681	681
91	91	T86	1	STRS	SINGLE	646	646
92	92	T84	1	STRS	SINGLE	617	617
93	93	T77	1	STRS	SINGLE	598	598
94	94	T85	1	STRS	SINGLE	569	569
95	95	T73	1	STRS	SINGLE	547	547
96	96	T80	1	STRS	SINGLE	547	547
97	97	T75	1	STRS	SINGLE	529	529
98	98	T81	1	STRS	SINGLE	525	525
99	99	T83	1	STRS	SINGLE	437	437
100	100	T74	1	STRS	SINGLE	398	398
101	101	E11S	5	STRS	SPECKLE PARK	721	3607
102	102	E36S	8	STRS	SPECKLE PARK	663	5306
103	103	E17S	9	STRS	SPECKLE PARK	542	4878
104	104	E33S	2	STRS	SPECKLE PARK	480	959
105	105	304Y	1	STRS	YEARLING	1061	1061
106	106	504Q	3	STRS	YEARLING	905	2716
107	107	503M	6	STRS	YEARLING	878	5267
108	108	401S	2	STRS	YEARLING	805	1610
109	109	403Z	1	STRS	YEARLING	770	770
110	110	507B	12	HFRS	BLACK	775	9305
111	111	505B	41	HFRS	BLACK	709	29088
112	112	503B	79	HFRS	BLACK	634	50114
113	113	501B	76	HFRS	BLACK	562	42727
114	114	509B	28	HFRS	BLACK	496	13885
115	115	W53B	18	HFRS	BLACK	413	7437
116	116	502B	3	HFRS	BLKS/REDS	917	2750
117	117	500B	5	HFRS	BLKS/RDS	861	4304
118	118	506J	2	HFRS	BRITISH	846	1691
119	119	W67B	3	HFRS	BRITISH	738	2213
120	120	W59J	7	HFRS	BRITISH	709	4964
121	121	W68T	1	HFRS	BRITISH	601	601

122	122	401J	5	HFRS	BRITISH	622	3110	
123	123	W67	4	HFRS	BUCKSKIN	936	3743	
124	124	302T	9	HFRS	BUCKSKIN	859	7728	
125	125	300T	20	HFRS	BUCKSKIN	792	15833	
126	126	W57T	19	HFRS	BUCKSKIN	723	13731	
127	127	507T	17	HFRS	BUCKSKIN	632	10744	
128	128	W55T	6	HFRS	BUCKSKIN	570	3423	
129	129	W53W	6	HFRS	BUCKSKIN	482	2894	
130	130	W51T	2	HFRS	BUCKSKIN	436	872	
131	131	W68C	9	HFRS	CHAR	815	7339	
132	132	301C	5	HFRS	CHAR	704	3519	
133	133	403C	9	HFRS	CHAR	639	5748	
134	134	504C	5	HFRS	CHAR	550	2752	
135	135	500C	7	HFRS	CHAR	477	3336	
136	136	W67C	4	HFRS	CHAR	389	1556	
137	137	W71U	2	HFRS	CROSS BRED	917	1834	
138	138	404U	19	HFRS	CROSS BRED	754	14334	
139	139	400U	32	HFRS	CROSS BRED	624	19977	
140	140	506U	8	HFRS	CROSS BRED	476	3810	
141	141	W68Y	1	HFRS	EXOTIC X	908	908	
142	142	500E	1	HFRS	EXOTIC	858	858	
143	143	502Y	3	HFRS	EXOTIC	863	2588	
144	144	409Y	12	HFRS	EXOTIC X	779	9346	
145	145	405Y	27	HFRS	EXOTIC X	711	19206	
146	146	406Y	48	HFRS	EXOTIC X	635	30482	
147	147	W70E	5	HFRS	EXOTIC	617	3084	
148	148	402Y	45	HFRS	EXOTIC X	560	25193	
149	149	407Y	39	HFRS	EXOTIC X	493	19233	
150	150	502E	6	HFRS	EXOTIC	493	2956	
151	151	W66Y	14	HFRS	EXOTIC X	422	5906	
152	152	141H	1	HFRS	HEIFERETTES	1196	1196	
153	153	403H	2	HFRS	HEREFORD	774	1548	
154	154	W68H	8	HFRS	HEREFORD	671	5365	
155	155	W51H	15	HFRS	HEREFORD	526	7893	
156	156	W72H	2	HFRS	HEREFORD	410	821	
157	157	W72L	2	HFRS	LITTLE	328	657	
158	158	133F	1	HFRS	LONHORN	584	584	
159	159	W58P	5	HFRS	PEE WEE	341	1706	
160	160	W69R	6	HFRS	RED ANGUS	784	4705	
161	161	W58R	22	HFRS	RED ANGUS	714	15716	
162	162	W61R	23	HFRS	RED ANGUS	632	14546	
163	163	301R	16	HFRS	RED ANGUS	560	8955	
164	164	W64R	7	HFRS	RED ANGUS	494	3455	

165	165	W63R	4	HFRS	RED ANGUS	406	1626	
166	166	W60X	4	HFRS	RED/BLK EXOTIC	941	3763	
167	167	305X	14	HFRS	RED/BLK EXOTIC	855	11969	
168	168	307X	26	HFRS	RED/BLK EXOTIC	788	20483	
169	169	306X	39	HFRS	RED/BLK EXOTIC	713	27802	
170	170	304X	17	HFRS	RED/BLK EXOTIC	641	10901	
171	171	302X	10	HFRS	RED/BLK EXOTIC	559	5592	
172	172	303X	1	HFRS	RED/BLK EXOTIC	485	485	
173	173	508B	1	HFRS	REPLACEMENT	752	752	
174	174	508R	17	HFRS	REPLACEMENT	743	12623	
175	175	W68S	12	HFRS	ROANS	742	8907	
176	176	302G	1	HFRS	SILVER	756	756	
177	177	507G	3	HFRS	SILVER	545	1634	
178	178	T658	1	HFRS	SINGLE	839	839	
179	179	T668	1	HFRS	SINGLE	831	831	
180	180	T665	1	HFRS	SINGLE	726	726	
181	181	T655	1	HFRS	SINGLE	692	692	
182	182	T656	1	HFRS	SINGLE	647	647	
183	183	T659	1	HFRS	SINGLE	533	533	
184	184	T657	1	HFRS	SINGLE	616	616	
185	185	T661	1	HFRS	SINGLE	534	534	
186	186	T663	1	HFRS	SINGLE	522	522	
187	187	T669	1	HFRS	SINGLE	517	517	
188	188	T667	1	HFRS	SINGLE	507	507	
189	189	T666	1	HFRS	SINGLE	497	497	
190	190	T662	1	HFRS	SINGLE	475	475	
191	191	T660	1	HFRS	SINGLE	295	295	
192	192	W59S	2	HFRS	SMALL	344	689	
193	193	133D	1	HFRS	SMALL	319	319	
194	194	300S	3	HFRS	SPECKLE PARK	744	2233	
195	195	W72S	8	HFRS	SPECKLE PARK	601	4810	
196	196	W51S	3	HFRS	SPECKLE	516	1548	
197	197	E14E	1	HFRS	YEARLING	1350	1350	
198	198	E13E	1	HFRS	YEARLING	1080	1080	
199	199	E28Z	1	HFRS	YEARLING	958	958	
200	200	141Q	1	HFRS	YEARLING	866	866	
201	201	E29L	1	HFRS	YEARLING	812	812	
202	202	E36Z	1	HFRS	YEARLING	751	751	
203	203	E24K	1	HFRS	YEARLING	572	572	

**Total Head: 1951**

**Lot Detail Information**

Sequence #:	<b>1</b>	Lot #:	<b>1</b>
Pen #:	<b>202S</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>1080</b>
Color:		Total Weight:	<b>2160</b>
Sex:	<b>STRS</b>	Breed:	<b>YEARLING BULL</b>

**Lot Detail Information**

Sequence #:	<b>2</b>	Lot #:	<b>2</b>
Pen #:	<b>T654</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>736</b>
Color:		Total Weight:	<b>736</b>
Sex:	<b>HFRS</b>	Breed:	<b>SINGLE</b>

**Lot Detail Information**

Sequence #:	<b>3</b>	Lot #:	<b>3</b>
Pen #:	<b>200D</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>664</b>
Color:		Total Weight:	<b>664</b>
Sex:	<b>STRS</b>	Breed:	<b>BELLY NUT</b>

**Lot Detail Information**

Sequence #:	<b>4</b>	Lot #:	<b>4</b>
Pen #:	<b>E31B</b>	Consignor:	
Head:	<b>5</b>	Average Weight:	<b>864</b>
Color:		Total Weight:	<b>4320</b>
Sex:	<b>STRS</b>	Breed:	<b>BLACK</b>

**Lot Detail Information**

Sequence #:	<b>5</b>	Lot #:	<b>5</b>
Pen #:	<b>E18B</b>	Consignor:	
Head:	<b>30</b>	Average Weight:	<b>777</b>
Color:		Total Weight:	<b>23311</b>
Sex:	<b>STRS</b>	Breed:	<b>BLACK</b>

**Lot Detail Information**

Sequence #:	<b>6</b>	Lot #:	<b>6</b>
Pen #:	<b>E25B</b>	Consignor:	
Head:	<b>43</b>	Average Weight:	<b>710</b>
Color:		Total Weight:	<b>30516</b>
Sex:	<b>STRS</b>	Breed:	<b>BLACK</b>

**Lot Detail Information**

Sequence #:	<b>7</b>	Lot #:	<b>7</b>
Pen #:	<b>E23B</b>	Consignor:	
Head:	<b>58</b>	Average Weight:	<b>641</b>
Color:		Total Weight:	<b>37162</b>
Sex:	<b>STRS</b>	Breed:	<b>BLACK</b>

**Lot Detail Information**

Sequence #:	<b>8</b>	Lot #:	<b>8</b>
-------------	----------	--------	----------

Pen #:	<b>E14B</b>	Consignor:	
Head:	<b>48</b>	Average Weight:	<b>566</b>
Color:		Total Weight:	<b>27160</b>
Sex:	<b>STRS</b>	Breed:	<b>BLACK</b>

**Lot Detail Information**

---

Sequence #:	<b>9</b>	Lot #:	<b>9</b>
Pen #:	<b>E16B</b>	Consignor:	
Head:	<b>24</b>	Average Weight:	<b>496</b>
Color:		Total Weight:	<b>11908</b>
Sex:	<b>STRS</b>	Breed:	<b>BLACK</b>

**Lot Detail Information**

---

Sequence #:	<b>10</b>	Lot #:	<b>10</b>
Pen #:	<b>E33B</b>	Consignor:	
Head:	<b>6</b>	Average Weight:	<b>414</b>
Color:		Total Weight:	<b>2483</b>
Sex:	<b>STRS</b>	Breed:	<b>BLACK</b>

**Lot Detail Information**

---

Sequence #:	<b>11</b>	Lot #:	<b>11</b>
Pen #:	<b>E16A</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>833</b>
Color:		Total Weight:	<b>833</b>
Sex:	<b>STRS</b>	Breed:	<b>BRITISH BULL</b>

**Lot Detail Information**

---

Sequence #:	<b>12</b>	Lot #:	<b>12</b>
Pen #:	<b>E36J</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>888</b>
Color:		Total Weight:	<b>2665</b>
Sex:	<b>STRS</b>	Breed:	<b>BRITISH</b>

**Lot Detail Information**

---

Sequence #:	<b>13</b>	Lot #:	<b>13</b>
Pen #:	<b>143A</b>	Consignor:	
Head:	<b>5</b>	Average Weight:	<b>743</b>
Color:		Total Weight:	<b>3713</b>
Sex:	<b>STRS</b>	Breed:	<b>BRITISH BULL</b>

**Lot Detail Information**

---

Sequence #:	<b>14</b>	Lot #:	<b>14</b>
Pen #:	<b>137J</b>	Consignor:	
Head:	<b>8</b>	Average Weight:	<b>725</b>
Color:		Total Weight:	<b>5798</b>
Sex:	<b>STRS</b>	Breed:	<b>BRITISH</b>

**Lot Detail Information**

---

Sequence #:	<b>15</b>	Lot #:	<b>15</b>
Pen #:	<b>135A</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>653</b>
Color:		Total Weight:	<b>1958</b>

Sex: **STRS** Breed: **BRITISH BULL**

**Lot Detail Information**

Sequence #:	<b>16</b>	Lot #:	<b>16</b>
Pen #:	<b>T82</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>549</b>
Color:		Total Weight:	<b>549</b>
Sex:	<b>STRS</b>	Breed:	<b>BRITISH</b>

**Lot Detail Information**

Sequence #:	<b>17</b>	Lot #:	<b>17</b>
Pen #:	<b>E24Z</b>	Consignor:	
Head:	<b>4</b>	Average Weight:	<b>557</b>
Color:		Total Weight:	<b>2229</b>
Sex:	<b>STRS</b>	Breed:	<b>BRITISH BULL</b>

**Lot Detail Information**

Sequence #:	<b>18</b>	Lot #:	<b>18</b>
Pen #:	<b>E27J</b>	Consignor:	
Head:	<b>4</b>	Average Weight:	<b>556</b>
Color:		Total Weight:	<b>2223</b>
Sex:	<b>STRS</b>	Breed:	<b>BRITISH</b>

**Lot Detail Information**

Sequence #:	<b>19</b>	Lot #:	<b>19</b>
Pen #:	<b>139Z</b>	Consignor:	
Head:	<b>7</b>	Average Weight:	<b>449</b>
Color:		Total Weight:	<b>3140</b>
Sex:	<b>STRS</b>	Breed:	<b>BRITISH BULL</b>

**Lot Detail Information**

Sequence #:	<b>20</b>	Lot #:	<b>20</b>
Pen #:	<b>E34J</b>	Consignor:	
Head:	<b>11</b>	Average Weight:	<b>449</b>
Color:		Total Weight:	<b>4943</b>
Sex:	<b>STRS</b>	Breed:	<b>BRITISH</b>

**Lot Detail Information**

Sequence #:	<b>21</b>	Lot #:	<b>21</b>
Pen #:	<b>206B</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>355</b>
Color:		Total Weight:	<b>710</b>
Sex:	<b>STRS</b>	Breed:	<b>BRITISH BULL</b>

**Lot Detail Information**

Sequence #:	<b>22</b>	Lot #:	<b>22</b>
Pen #:	<b>E36T</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>960</b>
Color:		Total Weight:	<b>2881</b>
Sex:	<b>STRS</b>	Breed:	<b>BUCKSKIN</b>

**Lot Detail Information**

Sequence #:	<b>23</b>	Lot #:	<b>23</b>
Pen #:	<b>E32T</b>	Consignor:	
Head:	<b>12</b>	Average Weight:	<b>855</b>
Color:		Total Weight:	<b>10256</b>
Sex:	<b>STRS</b>	Breed:	<b>BUCKSKIN</b>

#### **Lot Detail Information**

---

Sequence #:	<b>24</b>	Lot #:	<b>24</b>
Pen #:	<b>E20T</b>	Consignor:	
Head:	<b>9</b>	Average Weight:	<b>777</b>
Color:		Total Weight:	<b>6992</b>
Sex:	<b>STRS</b>	Breed:	<b>BUCKSKIN</b>

#### **Lot Detail Information**

---

Sequence #:	<b>25</b>	Lot #:	<b>25</b>
Pen #:	<b>E26T</b>	Consignor:	
Head:	<b>16</b>	Average Weight:	<b>722</b>
Color:		Total Weight:	<b>11558</b>
Sex:	<b>STRS</b>	Breed:	<b>BUCKSKIN</b>

#### **Lot Detail Information**

---

Sequence #:	<b>26</b>	Lot #:	<b>26</b>
Pen #:	<b>E23T</b>	Consignor:	
Head:	<b>16</b>	Average Weight:	<b>636</b>
Color:		Total Weight:	<b>10172</b>
Sex:	<b>STRS</b>	Breed:	<b>BUCKSKIN</b>

#### **Lot Detail Information**

---

Sequence #:	<b>27</b>	Lot #:	<b>27</b>
Pen #:	<b>E33T</b>	Consignor:	
Head:	<b>6</b>	Average Weight:	<b>582</b>
Color:		Total Weight:	<b>3491</b>
Sex:	<b>STRS</b>	Breed:	<b>BUCKSKIN</b>

#### **Lot Detail Information**

---

Sequence #:	<b>28</b>	Lot #:	<b>28</b>
Pen #:	<b>E22T</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>422</b>
Color:		Total Weight:	<b>1267</b>
Sex:	<b>STRS</b>	Breed:	<b>BUCKSKIN</b>

#### **Lot Detail Information**

---

Sequence #:	<b>29</b>	Lot #:	<b>29</b>
Pen #:	<b>E11C</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>826</b>
Color:		Total Weight:	<b>826</b>
Sex:	<b>STRS</b>	Breed:	<b>CHAR</b>

#### **Lot Detail Information**

---

Sequence #:	<b>30</b>	Lot #:	<b>30</b>
Pen #:	<b>E30C</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>789</b>

Color:		Total Weight:	<b>1578</b>
Sex:	<b>STRS</b>	Breed:	<b>CHAR</b>

**Lot Detail Information**

---

Sequence #:	<b>31</b>	Lot #:	<b>31</b>
Pen #:	<b>E15C</b>	Consignor:	
Head:	<b>9</b>	Average Weight:	<b>698</b>
Color:		Total Weight:	<b>6278</b>
Sex:	<b>STRS</b>	Breed:	<b>CHAR</b>

**Lot Detail Information**

---

Sequence #:	<b>32</b>	Lot #:	<b>32</b>
Pen #:	<b>E25C</b>	Consignor:	
Head:	<b>17</b>	Average Weight:	<b>636</b>
Color:		Total Weight:	<b>10810</b>
Sex:	<b>STRS</b>	Breed:	<b>CHAR</b>

**Lot Detail Information**

---

Sequence #:	<b>33</b>	Lot #:	<b>33</b>
Pen #:	<b>E17C</b>	Consignor:	
Head:	<b>11</b>	Average Weight:	<b>565</b>
Color:		Total Weight:	<b>6217</b>
Sex:	<b>STRS</b>	Breed:	<b>CHAR</b>

**Lot Detail Information**

---

Sequence #:	<b>34</b>	Lot #:	<b>34</b>
Pen #:	<b>E34C</b>	Consignor:	
Head:	<b>8</b>	Average Weight:	<b>485</b>
Color:		Total Weight:	<b>3880</b>
Sex:	<b>STRS</b>	Breed:	<b>CHAR</b>

**Lot Detail Information**

---

Sequence #:	<b>35</b>	Lot #:	<b>35</b>
Pen #:	<b>206U</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>829</b>
Color:		Total Weight:	<b>2487</b>
Sex:	<b>STRS</b>	Breed:	<b>CROSS BRED</b>

**Lot Detail Information**

---

Sequence #:	<b>36</b>	Lot #:	<b>36</b>
Pen #:	<b>207U</b>	Consignor:	
Head:	<b>17</b>	Average Weight:	<b>721</b>
Color:		Total Weight:	<b>12249</b>
Sex:	<b>STRS</b>	Breed:	<b>CROSS BRED</b>

**Lot Detail Information**

---

Sequence #:	<b>37</b>	Lot #:	<b>37</b>
Pen #:	<b>E15U</b>	Consignor:	
Head:	<b>27</b>	Average Weight:	<b>573</b>
Color:		Total Weight:	<b>15481</b>
Sex:	<b>STRS</b>	Breed:	<b>CROSS BRED</b>

**Lot Detail Information**

---

Sequence #:	<b>38</b>	Lot #:	<b>38</b>
Pen #:	<b>141U</b>	Consignor:	
Head:	<b>4</b>	Average Weight:	<b>474</b>
Color:		Total Weight:	<b>1894</b>
Sex:	<b>STRS</b>	Breed:	<b>CROSS BRED</b>

**Lot Detail Information**

---

Sequence #:	<b>39</b>	Lot #:	<b>39</b>
Pen #:	<b>143D</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>1080</b>
Color:		Total Weight:	<b>1080</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC BULLS</b>

**Lot Detail Information**

---

Sequence #:	<b>40</b>	Lot #:	<b>40</b>
Pen #:	<b>E21A</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>941</b>
Color:		Total Weight:	<b>2823</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC BULLS</b>

**Lot Detail Information**

---

Sequence #:	<b>41</b>	Lot #:	<b>41</b>
Pen #:	<b>E28Y</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>873</b>
Color:		Total Weight:	<b>873</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC</b>

**Lot Detail Information**

---

Sequence #:	<b>42</b>	Lot #:	<b>42</b>
Pen #:	<b>E19B</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>854</b>
Color:		Total Weight:	<b>2563</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC BULLS</b>

**Lot Detail Information**

---

Sequence #:	<b>43</b>	Lot #:	<b>43</b>
Pen #:	<b>E27Y</b>	Consignor:	
Head:	<b>7</b>	Average Weight:	<b>771</b>
Color:		Total Weight:	<b>5396</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC</b>

**Lot Detail Information**

---

Sequence #:	<b>44</b>	Lot #:	<b>44</b>
Pen #:	<b>205Z</b>	Consignor:	
Head:	<b>22</b>	Average Weight:	<b>746</b>
Color:		Total Weight:	<b>16411</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC BULL</b>

**Lot Detail Information**

---

Sequence #:	<b>45</b>	Lot #:	<b>45</b>
-------------	-----------	--------	-----------

Pen #:	<b>E22Y</b>	Consignor:	
Head:	<b>18</b>	Average Weight:	<b>716</b>
Color:		Total Weight:	<b>12892</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC</b>

**Lot Detail Information**

---

Sequence #:	<b>46</b>	Lot #:	<b>46</b>
Pen #:	<b>E13Y</b>	Consignor:	
Head:	<b>39</b>	Average Weight:	<b>641</b>
Color:		Total Weight:	<b>24997</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC</b>

**Lot Detail Information**

---

Sequence #:	<b>47</b>	Lot #:	<b>47</b>
Pen #:	<b>E21Z</b>	Consignor:	
Head:	<b>38</b>	Average Weight:	<b>654</b>
Color:		Total Weight:	<b>24864</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC BULL</b>

**Lot Detail Information**

---

Sequence #:	<b>48</b>	Lot #:	<b>48</b>
Pen #:	<b>208X</b>	Consignor:	
Head:	<b>10</b>	Average Weight:	<b>614</b>
Color:		Total Weight:	<b>6145</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC</b>

**Lot Detail Information**

---

Sequence #:	<b>49</b>	Lot #:	<b>49</b>
Pen #:	<b>E19Y</b>	Consignor:	
Head:	<b>43</b>	Average Weight:	<b>561</b>
Color:		Total Weight:	<b>24129</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC</b>

**Lot Detail Information**

---

Sequence #:	<b>50</b>	Lot #:	<b>50</b>
Pen #:	<b>E38Z</b>	Consignor:	
Head:	<b>21</b>	Average Weight:	<b>552</b>
Color:		Total Weight:	<b>11586</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC BULL</b>

**Lot Detail Information**

---

Sequence #:	<b>51</b>	Lot #:	<b>51</b>
Pen #:	<b>E31Y</b>	Consignor:	
Head:	<b>25</b>	Average Weight:	<b>487</b>
Color:		Total Weight:	<b>12175</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC X</b>

**Lot Detail Information**

---

Sequence #:	<b>52</b>	Lot #:	<b>52</b>
Pen #:	<b>207C</b>	Consignor:	
Head:	<b>13</b>	Average Weight:	<b>466</b>
Color:		Total Weight:	<b>6062</b>

Sex: **STRS** Breed: **EXOTIC**

#### **Lot Detail Information**

Sequence #:	<b>53</b>	Lot #:	<b>53</b>
Pen #:	<b>205L</b>	Consignor:	
Head:	<b>20</b>	Average Weight:	<b>451</b>
Color:		Total Weight:	<b>9029</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC BULL</b>

#### **Lot Detail Information**

Sequence #:	<b>54</b>	Lot #:	<b>54</b>
Pen #:	<b>E32Y</b>	Consignor:	
Head:	<b>12</b>	Average Weight:	<b>414</b>
Color:		Total Weight:	<b>4973</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC X</b>

#### **Lot Detail Information**

Sequence #:	<b>55</b>	Lot #:	<b>55</b>
Pen #:	<b>143M</b>	Consignor:	
Head:	<b>4</b>	Average Weight:	<b>380</b>
Color:		Total Weight:	<b>1519</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOTIC</b>

#### **Lot Detail Information**

Sequence #:	<b>56</b>	Lot #:	<b>56</b>
Pen #:	<b>139G</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>567</b>
Color:		Total Weight:	<b>567</b>
Sex:	<b>STRS</b>	Breed:	<b>GALLOWAY</b>

#### **Lot Detail Information**

Sequence #:	<b>57</b>	Lot #:	<b>57</b>
Pen #:	<b>206G</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>499</b>
Color:		Total Weight:	<b>499</b>
Sex:	<b>STRS</b>	Breed:	<b>GALLOWAY</b>

#### **Lot Detail Information**

Sequence #:	<b>58</b>	Lot #:	<b>58</b>
Pen #:	<b>E31H</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>725</b>
Color:		Total Weight:	<b>725</b>
Sex:	<b>STRS</b>	Breed:	<b>HEREFORD</b>

#### **Lot Detail Information**

Sequence #:	<b>59</b>	Lot #:	<b>59</b>
Pen #:	<b>208P</b>	Consignor:	
Head:	<b>6</b>	Average Weight:	<b>637</b>
Color:		Total Weight:	<b>3823</b>
Sex:	<b>STRS</b>	Breed:	<b>HEREFORD</b>

#### **Lot Detail Information**

Sequence #:	<b>60</b>	Lot #:	<b>60</b>
Pen #:	<b>E33H</b>	Consignor:	
Head:	<b>6</b>	Average Weight:	<b>544</b>
Color:		Total Weight:	<b>3261</b>
Sex:	<b>STRS</b>	Breed:	<b>HEREFORD</b>

#### **Lot Detail Information**

---

Sequence #:	<b>61</b>	Lot #:	<b>61</b>
Pen #:	<b>E18H</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>490</b>
Color:		Total Weight:	<b>981</b>
Sex:	<b>STRS</b>	Breed:	<b>HEREFORD</b>

#### **Lot Detail Information**

---

Sequence #:	<b>62</b>	Lot #:	<b>62</b>
Pen #:	<b>206R</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>854</b>
Color:		Total Weight:	<b>854</b>
Sex:	<b>STRS</b>	Breed:	<b>HORNS</b>

#### **Lot Detail Information**

---

Sequence #:	<b>63</b>	Lot #:	<b>63</b>
Pen #:	<b>139R</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>765</b>
Color:		Total Weight:	<b>765</b>
Sex:	<b>STRS</b>	Breed:	<b>HORNS</b>

#### **Lot Detail Information**

---

Sequence #:	<b>64</b>	Lot #:	<b>64</b>
Pen #:	<b>143L</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>694</b>
Color:		Total Weight:	<b>2082</b>
Sex:	<b>STRS</b>	Breed:	<b>LATE CUT</b>

#### **Lot Detail Information**

---

Sequence #:	<b>65</b>	Lot #:	<b>65</b>
Pen #:	<b>200L</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>292</b>
Color:		Total Weight:	<b>584</b>
Sex:	<b>STRS</b>	Breed:	<b>LITTLE</b>

#### **Lot Detail Information**

---

Sequence #:	<b>66</b>	Lot #:	<b>66</b>
Pen #:	<b>207L</b>	Consignor:	
Head:	<b>4</b>	Average Weight:	<b>342</b>
Color:		Total Weight:	<b>1367</b>
Sex:	<b>STRS</b>	Breed:	<b>LITTLE</b>

#### **Lot Detail Information**

---

Sequence #:	<b>67</b>	Lot #:	<b>67</b>
Pen #:	<b>143O</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>570</b>

Color:		Total Weight:	<b>1139</b>
Sex:	<b>STRS</b>	Breed:	<b>LONGHORN</b>

**Lot Detail Information**

---

Sequence #:	<b>68</b>	Lot #:	<b>68</b>
Pen #:	<b>143X</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>441</b>
Color:		Total Weight:	<b>441</b>
Sex:	<b>STRS</b>	Breed:	<b>LONGHORN</b>

**Lot Detail Information**

---

Sequence #:	<b>69</b>	Lot #:	<b>69</b>
Pen #:	<b>206W</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>395</b>
Color:		Total Weight:	<b>395</b>
Sex:	<b>STRS</b>	Breed:	<b>LONGHORN</b>

**Lot Detail Information**

---

Sequence #:	<b>70</b>	Lot #:	<b>70</b>
Pen #:	<b>200R</b>	Consignor:	
Head:	<b>11</b>	Average Weight:	<b>900</b>
Color:		Total Weight:	<b>9896</b>
Sex:	<b>STRS</b>	Breed:	<b>ONE OWNER/SHORTHORN</b>

**Lot Detail Information**

---

Sequence #:	<b>71</b>	Lot #:	<b>71</b>
Pen #:	<b>E16R</b>	Consignor:	
Head:	<b>12</b>	Average Weight:	<b>701</b>
Color:		Total Weight:	<b>8410</b>
Sex:	<b>STRS</b>	Breed:	<b>RED ANGUS</b>

**Lot Detail Information**

---

Sequence #:	<b>72</b>	Lot #:	<b>72</b>
Pen #:	<b>E11R</b>	Consignor:	
Head:	<b>7</b>	Average Weight:	<b>646</b>
Color:		Total Weight:	<b>4521</b>
Sex:	<b>STRS</b>	Breed:	<b>RED ANGUS</b>

**Lot Detail Information**

---

Sequence #:	<b>73</b>	Lot #:	<b>73</b>
Pen #:	<b>E17R</b>	Consignor:	
Head:	<b>14</b>	Average Weight:	<b>568</b>
Color:		Total Weight:	<b>7955</b>
Sex:	<b>STRS</b>	Breed:	<b>RED ANGUS</b>

**Lot Detail Information**

---

Sequence #:	<b>74</b>	Lot #:	<b>74</b>
Pen #:	<b>E36R</b>	Consignor:	
Head:	<b>7</b>	Average Weight:	<b>497</b>
Color:		Total Weight:	<b>3476</b>
Sex:	<b>STRS</b>	Breed:	<b>RED ANGUS</b>

**Lot Detail Information**

---

Sequence #:	<b>75</b>	Lot #:	<b>75</b>
Pen #:	<b>137R</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>413</b>
Color:		Total Weight:	<b>413</b>
Sex:	<b>STRS</b>	Breed:	<b>RED ANGUS</b>

**Lot Detail Information**

---

Sequence #:	<b>76</b>	Lot #:	<b>76</b>
Pen #:	<b>E15X</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>1032</b>
Color:		Total Weight:	<b>3096</b>
Sex:	<b>STRS</b>	Breed:	<b>RED/BLK EXOTIC</b>

**Lot Detail Information**

---

Sequence #:	<b>77</b>	Lot #:	<b>77</b>
Pen #:	<b>E38X</b>	Consignor:	
Head:	<b>7</b>	Average Weight:	<b>928</b>
Color:		Total Weight:	<b>6493</b>
Sex:	<b>STRS</b>	Breed:	<b>RED/BLK EXOTIC</b>

**Lot Detail Information**

---

Sequence #:	<b>78</b>	Lot #:	<b>78</b>
Pen #:	<b>E34X</b>	Consignor:	
Head:	<b>25</b>	Average Weight:	<b>868</b>
Color:		Total Weight:	<b>21700</b>
Sex:	<b>STRS</b>	Breed:	<b>RED/BLK EXOTIC</b>

**Lot Detail Information**

---

Sequence #:	<b>79</b>	Lot #:	<b>79</b>
Pen #:	<b>E29X</b>	Consignor:	
Head:	<b>27</b>	Average Weight:	<b>779</b>
Color:		Total Weight:	<b>21043</b>
Sex:	<b>STRS</b>	Breed:	<b>RED/BLK EXOTIC</b>

**Lot Detail Information**

---

Sequence #:	<b>80</b>	Lot #:	<b>80</b>
Pen #:	<b>E30X</b>	Consignor:	
Head:	<b>22</b>	Average Weight:	<b>711</b>
Color:		Total Weight:	<b>15638</b>
Sex:	<b>STRS</b>	Breed:	<b>RED/BLK EXOTIC</b>

**Lot Detail Information**

---

Sequence #:	<b>81</b>	Lot #:	<b>81</b>
Pen #:	<b>E12X</b>	Consignor:	
Head:	<b>19</b>	Average Weight:	<b>633</b>
Color:		Total Weight:	<b>12034</b>
Sex:	<b>STRS</b>	Breed:	<b>RED/BLK EXOTIC</b>

**Lot Detail Information**

---

Sequence #:	<b>82</b>	Lot #:	<b>82</b>
-------------	-----------	--------	-----------

Pen #:	<b>E28X</b>	Consignor:	
Head:	<b>15</b>	Average Weight:	<b>562</b>
Color:		Total Weight:	<b>8427</b>
Sex:	<b>STRS</b>	Breed:	<b>RED/BLK EXOTIC</b>

**Lot Detail Information**

---

Sequence #:	<b>83</b>	Lot #:	<b>83</b>
Pen #:	<b>E26X</b>	Consignor:	
Head:	<b>16</b>	Average Weight:	<b>489</b>
Color:		Total Weight:	<b>7819</b>
Sex:	<b>STRS</b>	Breed:	<b>RED/BLK EXOTIC</b>

**Lot Detail Information**

---

Sequence #:	<b>84</b>	Lot #:	<b>84</b>
Pen #:	<b>E14G</b>	Consignor:	
Head:	<b>7</b>	Average Weight:	<b>900</b>
Color:		Total Weight:	<b>6299</b>
Sex:	<b>STRS</b>	Breed:	<b>SHORTHORN</b>

**Lot Detail Information**

---

Sequence #:	<b>85</b>	Lot #:	<b>85</b>
Pen #:	<b>141R</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>654</b>
Color:		Total Weight:	<b>1309</b>
Sex:	<b>STRS</b>	Breed:	<b>SHORTHORN/ROAN</b>

**Lot Detail Information**

---

Sequence #:	<b>86</b>	Lot #:	<b>86</b>
Pen #:	<b>207H</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>545</b>
Color:		Total Weight:	<b>545</b>
Sex:	<b>STRS</b>	Breed:	<b>SHORTHORN/ROAN</b>

**Lot Detail Information**

---

Sequence #:	<b>87</b>	Lot #:	<b>87</b>
Pen #:	<b>T78</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>1012</b>
Color:		Total Weight:	<b>1012</b>
Sex:	<b>STRS</b>	Breed:	<b>SINGLE</b>

**Lot Detail Information**

---

Sequence #:	<b>88</b>	Lot #:	<b>88</b>
Pen #:	<b>T664</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>775</b>
Color:		Total Weight:	<b>775</b>
Sex:	<b>STRS</b>	Breed:	<b>SINGLE</b>

**Lot Detail Information**

---

Sequence #:	<b>89</b>	Lot #:	<b>89</b>
Pen #:	<b>T79</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>720</b>
Color:		Total Weight:	<b>720</b>

Sex:	<b>STRS</b>	Breed:	<b>SINGLE</b>
------	-------------	--------	---------------

**Lot Detail Information**

Sequence #:	<b>90</b>	Lot #:	<b>90</b>
Pen #:	<b>T76</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>681</b>
Color:		Total Weight:	<b>681</b>
Sex:	<b>STRS</b>	Breed:	<b>SINGLE</b>

**Lot Detail Information**

Sequence #:	<b>91</b>	Lot #:	<b>91</b>
Pen #:	<b>T86</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>646</b>
Color:		Total Weight:	<b>646</b>
Sex:	<b>STRS</b>	Breed:	<b>SINGLE</b>

**Lot Detail Information**

Sequence #:	<b>92</b>	Lot #:	<b>92</b>
Pen #:	<b>T84</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>617</b>
Color:		Total Weight:	<b>617</b>
Sex:	<b>STRS</b>	Breed:	<b>SINGLE</b>

**Lot Detail Information**

Sequence #:	<b>93</b>	Lot #:	<b>93</b>
Pen #:	<b>T77</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>598</b>
Color:		Total Weight:	<b>598</b>
Sex:	<b>STRS</b>	Breed:	<b>SINGLE</b>

**Lot Detail Information**

Sequence #:	<b>94</b>	Lot #:	<b>94</b>
Pen #:	<b>T85</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>569</b>
Color:		Total Weight:	<b>569</b>
Sex:	<b>STRS</b>	Breed:	<b>SINGLE</b>

**Lot Detail Information**

Sequence #:	<b>95</b>	Lot #:	<b>95</b>
Pen #:	<b>T73</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>547</b>
Color:		Total Weight:	<b>547</b>
Sex:	<b>STRS</b>	Breed:	<b>SINGLE</b>

**Lot Detail Information**

Sequence #:	<b>96</b>	Lot #:	<b>96</b>
Pen #:	<b>T80</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>547</b>
Color:		Total Weight:	<b>547</b>
Sex:	<b>STRS</b>	Breed:	<b>SINGLE</b>

**Lot Detail Information**

Sequence #:	<b>97</b>	Lot #:	<b>97</b>
Pen #:	<b>T75</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>529</b>
Color:		Total Weight:	<b>529</b>
Sex:	<b>STRS</b>	Breed:	<b>SINGLE</b>

#### **Lot Detail Information**

---

Sequence #:	<b>98</b>	Lot #:	<b>98</b>
Pen #:	<b>T81</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>525</b>
Color:		Total Weight:	<b>525</b>
Sex:	<b>STRS</b>	Breed:	<b>SINGLE</b>

#### **Lot Detail Information**

---

Sequence #:	<b>99</b>	Lot #:	<b>99</b>
Pen #:	<b>T83</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>437</b>
Color:		Total Weight:	<b>437</b>
Sex:	<b>STRS</b>	Breed:	<b>SINGLE</b>

#### **Lot Detail Information**

---

Sequence #:	<b>100</b>	Lot #:	<b>100</b>
Pen #:	<b>T74</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>398</b>
Color:		Total Weight:	<b>398</b>
Sex:	<b>STRS</b>	Breed:	<b>SINGLE</b>

#### **Lot Detail Information**

---

Sequence #:	<b>101</b>	Lot #:	<b>101</b>
Pen #:	<b>E11S</b>	Consignor:	
Head:	<b>5</b>	Average Weight:	<b>721</b>
Color:		Total Weight:	<b>3607</b>
Sex:	<b>STRS</b>	Breed:	<b>SPECKLE PARK</b>

#### **Lot Detail Information**

---

Sequence #:	<b>102</b>	Lot #:	<b>102</b>
Pen #:	<b>E36S</b>	Consignor:	
Head:	<b>8</b>	Average Weight:	<b>663</b>
Color:		Total Weight:	<b>5306</b>
Sex:	<b>STRS</b>	Breed:	<b>SPECKLE PARK</b>

#### **Lot Detail Information**

---

Sequence #:	<b>103</b>	Lot #:	<b>103</b>
Pen #:	<b>E17S</b>	Consignor:	
Head:	<b>9</b>	Average Weight:	<b>542</b>
Color:		Total Weight:	<b>4878</b>
Sex:	<b>STRS</b>	Breed:	<b>SPECKLE PARK</b>

#### **Lot Detail Information**

---

Sequence #:	<b>104</b>	Lot #:	<b>104</b>
Pen #:	<b>E33S</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>480</b>

Color:		Total Weight:	<b>959</b>
Sex:	<b>STRS</b>	Breed:	<b>SPECKLE PARK</b>

**Lot Detail Information**

Sequence #:	<b>105</b>	Lot #:	<b>105</b>
Pen #:	<b>304Y</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>1061</b>
Color:		Total Weight:	<b>1061</b>
Sex:	<b>STRS</b>	Breed:	<b>YEARLING</b>

**Lot Detail Information**

Sequence #:	<b>106</b>	Lot #:	<b>106</b>
Pen #:	<b>504Q</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>905</b>
Color:		Total Weight:	<b>2716</b>
Sex:	<b>STRS</b>	Breed:	<b>YEARLING</b>

**Lot Detail Information**

Sequence #:	<b>107</b>	Lot #:	<b>107</b>
Pen #:	<b>503M</b>	Consignor:	
Head:	<b>6</b>	Average Weight:	<b>878</b>
Color:		Total Weight:	<b>5267</b>
Sex:	<b>STRS</b>	Breed:	<b>YEARLING</b>

**Lot Detail Information**

Sequence #:	<b>108</b>	Lot #:	<b>108</b>
Pen #:	<b>401S</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>805</b>
Color:		Total Weight:	<b>1610</b>
Sex:	<b>STRS</b>	Breed:	<b>YEARLING</b>

**Lot Detail Information**

Sequence #:	<b>109</b>	Lot #:	<b>109</b>
Pen #:	<b>403Z</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>770</b>
Color:		Total Weight:	<b>770</b>
Sex:	<b>STRS</b>	Breed:	<b>YEARLING</b>

**Lot Detail Information**

Sequence #:	<b>110</b>	Lot #:	<b>110</b>
Pen #:	<b>507B</b>	Consignor:	
Head:	<b>12</b>	Average Weight:	<b>775</b>
Color:		Total Weight:	<b>9305</b>
Sex:	<b>HFRS</b>	Breed:	<b>BLACK</b>

**Lot Detail Information**

Sequence #:	<b>111</b>	Lot #:	<b>111</b>
Pen #:	<b>505B</b>	Consignor:	
Head:	<b>41</b>	Average Weight:	<b>709</b>
Color:		Total Weight:	<b>29088</b>
Sex:	<b>HFRS</b>	Breed:	<b>BLACK</b>

**Lot Detail Information**

---

Sequence #:	<b>112</b>	Lot #:	<b>112</b>
Pen #:	<b>503B</b>	Consignor:	
Head:	<b>79</b>	Average Weight:	<b>634</b>
Color:		Total Weight:	<b>50114</b>
Sex:	<b>HFRS</b>	Breed:	<b>BLACK</b>

**Lot Detail Information**

---

Sequence #:	<b>113</b>	Lot #:	<b>113</b>
Pen #:	<b>501B</b>	Consignor:	
Head:	<b>76</b>	Average Weight:	<b>562</b>
Color:		Total Weight:	<b>42727</b>
Sex:	<b>HFRS</b>	Breed:	<b>BLACK</b>

**Lot Detail Information**

---

Sequence #:	<b>114</b>	Lot #:	<b>114</b>
Pen #:	<b>509B</b>	Consignor:	
Head:	<b>28</b>	Average Weight:	<b>496</b>
Color:		Total Weight:	<b>13885</b>
Sex:	<b>HFRS</b>	Breed:	<b>BLACK</b>

**Lot Detail Information**

---

Sequence #:	<b>115</b>	Lot #:	<b>115</b>
Pen #:	<b>W53B</b>	Consignor:	
Head:	<b>18</b>	Average Weight:	<b>413</b>
Color:		Total Weight:	<b>7437</b>
Sex:	<b>HFRS</b>	Breed:	<b>BLACK</b>

**Lot Detail Information**

---

Sequence #:	<b>116</b>	Lot #:	<b>116</b>
Pen #:	<b>502B</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>917</b>
Color:		Total Weight:	<b>2750</b>
Sex:	<b>HFRS</b>	Breed:	<b>BLKS/REDS</b>

**Lot Detail Information**

---

Sequence #:	<b>117</b>	Lot #:	<b>117</b>
Pen #:	<b>500B</b>	Consignor:	
Head:	<b>5</b>	Average Weight:	<b>861</b>
Color:		Total Weight:	<b>4304</b>
Sex:	<b>HFRS</b>	Breed:	<b>BLKS/RDS</b>

**Lot Detail Information**

---

Sequence #:	<b>118</b>	Lot #:	<b>118</b>
Pen #:	<b>506J</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>846</b>
Color:		Total Weight:	<b>1691</b>
Sex:	<b>HFRS</b>	Breed:	<b>BRITISH</b>

**Lot Detail Information**

---

Sequence #:	<b>119</b>	Lot #:	<b>119</b>
-------------	------------	--------	------------

Pen #:	<b>W67B</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>738</b>
Color:		Total Weight:	<b>2213</b>
Sex:	<b>HFRS</b>	Breed:	<b>BRITISH</b>

**Lot Detail Information**

---

Sequence #:	<b>120</b>	Lot #:	<b>120</b>
Pen #:	<b>W59J</b>	Consignor:	
Head:	<b>7</b>	Average Weight:	<b>709</b>
Color:		Total Weight:	<b>4964</b>
Sex:	<b>HFRS</b>	Breed:	<b>BRITISH</b>

**Lot Detail Information**

---

Sequence #:	<b>121</b>	Lot #:	<b>121</b>
Pen #:	<b>W68T</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>601</b>
Color:		Total Weight:	<b>601</b>
Sex:	<b>HFRS</b>	Breed:	<b>BRITISH</b>

**Lot Detail Information**

---

Sequence #:	<b>122</b>	Lot #:	<b>122</b>
Pen #:	<b>401J</b>	Consignor:	
Head:	<b>5</b>	Average Weight:	<b>622</b>
Color:		Total Weight:	<b>3110</b>
Sex:	<b>HFRS</b>	Breed:	<b>BRITISH</b>

**Lot Detail Information**

---

Sequence #:	<b>123</b>	Lot #:	<b>123</b>
Pen #:	<b>W67</b>	Consignor:	
Head:	<b>4</b>	Average Weight:	<b>936</b>
Color:		Total Weight:	<b>3743</b>
Sex:	<b>HFRS</b>	Breed:	<b>BUCKSKIN</b>

**Lot Detail Information**

---

Sequence #:	<b>124</b>	Lot #:	<b>124</b>
Pen #:	<b>302T</b>	Consignor:	
Head:	<b>9</b>	Average Weight:	<b>859</b>
Color:		Total Weight:	<b>7728</b>
Sex:	<b>HFRS</b>	Breed:	<b>BUCKSKIN</b>

**Lot Detail Information**

---

Sequence #:	<b>125</b>	Lot #:	<b>125</b>
Pen #:	<b>300T</b>	Consignor:	
Head:	<b>20</b>	Average Weight:	<b>792</b>
Color:		Total Weight:	<b>15833</b>
Sex:	<b>HFRS</b>	Breed:	<b>BUCKSKIN</b>

**Lot Detail Information**

---

Sequence #:	<b>126</b>	Lot #:	<b>126</b>
Pen #:	<b>W57T</b>	Consignor:	
Head:	<b>19</b>	Average Weight:	<b>723</b>
Color:		Total Weight:	<b>13731</b>

Sex:	<b>HFRS</b>	Breed:	<b>BUCKSKIN</b>
------	-------------	--------	-----------------

**Lot Detail Information**

Sequence #:	<b>127</b>	Lot #:	<b>127</b>
Pen #:	<b>507T</b>	Consignor:	
Head:	<b>17</b>	Average Weight:	<b>632</b>
Color:		Total Weight:	<b>10744</b>
Sex:	<b>HFRS</b>	Breed:	<b>BUCKSKIN</b>

**Lot Detail Information**

Sequence #:	<b>128</b>	Lot #:	<b>128</b>
Pen #:	<b>W55T</b>	Consignor:	
Head:	<b>6</b>	Average Weight:	<b>570</b>
Color:		Total Weight:	<b>3423</b>
Sex:	<b>HFRS</b>	Breed:	<b>BUCKSKIN</b>

**Lot Detail Information**

Sequence #:	<b>129</b>	Lot #:	<b>129</b>
Pen #:	<b>W53W</b>	Consignor:	
Head:	<b>6</b>	Average Weight:	<b>482</b>
Color:		Total Weight:	<b>2894</b>
Sex:	<b>HFRS</b>	Breed:	<b>BUCKSKIN</b>

**Lot Detail Information**

Sequence #:	<b>130</b>	Lot #:	<b>130</b>
Pen #:	<b>W51T</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>436</b>
Color:		Total Weight:	<b>872</b>
Sex:	<b>HFRS</b>	Breed:	<b>BUCKSKIN</b>

**Lot Detail Information**

Sequence #:	<b>131</b>	Lot #:	<b>131</b>
Pen #:	<b>W68C</b>	Consignor:	
Head:	<b>9</b>	Average Weight:	<b>815</b>
Color:		Total Weight:	<b>7339</b>
Sex:	<b>HFRS</b>	Breed:	<b>CHAR</b>

**Lot Detail Information**

Sequence #:	<b>132</b>	Lot #:	<b>132</b>
Pen #:	<b>301C</b>	Consignor:	
Head:	<b>5</b>	Average Weight:	<b>704</b>
Color:		Total Weight:	<b>3519</b>
Sex:	<b>HFRS</b>	Breed:	<b>CHAR</b>

**Lot Detail Information**

Sequence #:	<b>133</b>	Lot #:	<b>133</b>
Pen #:	<b>403C</b>	Consignor:	
Head:	<b>9</b>	Average Weight:	<b>639</b>
Color:		Total Weight:	<b>5748</b>
Sex:	<b>HFRS</b>	Breed:	<b>CHAR</b>

**Lot Detail Information**

Sequence #:	<b>134</b>	Lot #:	<b>134</b>
Pen #:	<b>504C</b>	Consignor:	
Head:	<b>5</b>	Average Weight:	<b>550</b>
Color:		Total Weight:	<b>2752</b>
Sex:	<b>HFRS</b>	Breed:	<b>CHAR</b>

#### **Lot Detail Information**

---

Sequence #:	<b>135</b>	Lot #:	<b>135</b>
Pen #:	<b>500C</b>	Consignor:	
Head:	<b>7</b>	Average Weight:	<b>477</b>
Color:		Total Weight:	<b>3336</b>
Sex:	<b>HFRS</b>	Breed:	<b>CHAR</b>

#### **Lot Detail Information**

---

Sequence #:	<b>136</b>	Lot #:	<b>136</b>
Pen #:	<b>W67C</b>	Consignor:	
Head:	<b>4</b>	Average Weight:	<b>389</b>
Color:		Total Weight:	<b>1556</b>
Sex:	<b>HFRS</b>	Breed:	<b>CHAR</b>

#### **Lot Detail Information**

---

Sequence #:	<b>137</b>	Lot #:	<b>137</b>
Pen #:	<b>W71U</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>917</b>
Color:		Total Weight:	<b>1834</b>
Sex:	<b>HFRS</b>	Breed:	<b>CROSS BRED</b>

#### **Lot Detail Information**

---

Sequence #:	<b>138</b>	Lot #:	<b>138</b>
Pen #:	<b>404U</b>	Consignor:	
Head:	<b>19</b>	Average Weight:	<b>754</b>
Color:		Total Weight:	<b>14334</b>
Sex:	<b>HFRS</b>	Breed:	<b>CROSS BRED</b>

#### **Lot Detail Information**

---

Sequence #:	<b>139</b>	Lot #:	<b>139</b>
Pen #:	<b>400U</b>	Consignor:	
Head:	<b>32</b>	Average Weight:	<b>624</b>
Color:		Total Weight:	<b>19977</b>
Sex:	<b>HFRS</b>	Breed:	<b>CROSS BRED</b>

#### **Lot Detail Information**

---

Sequence #:	<b>140</b>	Lot #:	<b>140</b>
Pen #:	<b>506U</b>	Consignor:	
Head:	<b>8</b>	Average Weight:	<b>476</b>
Color:		Total Weight:	<b>3810</b>
Sex:	<b>HFRS</b>	Breed:	<b>CROSS BRED</b>

#### **Lot Detail Information**

---

Sequence #:	<b>141</b>	Lot #:	<b>141</b>
Pen #:	<b>W68Y</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>908</b>

Color:		Total Weight:	<b>908</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOTIC X</b>

**Lot Detail Information**

Sequence #:	<b>142</b>	Lot #:	<b>142</b>
Pen #:	<b>500E</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>858</b>
Color:		Total Weight:	<b>858</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOTIC</b>

**Lot Detail Information**

Sequence #:	<b>143</b>	Lot #:	<b>143</b>
Pen #:	<b>502Y</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>863</b>
Color:		Total Weight:	<b>2588</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOTIC</b>

**Lot Detail Information**

Sequence #:	<b>144</b>	Lot #:	<b>144</b>
Pen #:	<b>409Y</b>	Consignor:	
Head:	<b>12</b>	Average Weight:	<b>779</b>
Color:		Total Weight:	<b>9346</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOTIC X</b>

**Lot Detail Information**

Sequence #:	<b>145</b>	Lot #:	<b>145</b>
Pen #:	<b>405Y</b>	Consignor:	
Head:	<b>27</b>	Average Weight:	<b>711</b>
Color:		Total Weight:	<b>19206</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOTIC X</b>

**Lot Detail Information**

Sequence #:	<b>146</b>	Lot #:	<b>146</b>
Pen #:	<b>406Y</b>	Consignor:	
Head:	<b>48</b>	Average Weight:	<b>635</b>
Color:		Total Weight:	<b>30482</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOTIC X</b>

**Lot Detail Information**

Sequence #:	<b>147</b>	Lot #:	<b>147</b>
Pen #:	<b>W70E</b>	Consignor:	
Head:	<b>5</b>	Average Weight:	<b>617</b>
Color:		Total Weight:	<b>3084</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOTIC</b>

**Lot Detail Information**

Sequence #:	<b>148</b>	Lot #:	<b>148</b>
Pen #:	<b>402Y</b>	Consignor:	
Head:	<b>45</b>	Average Weight:	<b>560</b>
Color:		Total Weight:	<b>25193</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOTIC X</b>

**Lot Detail Information**

---

Sequence #:	<b>149</b>	Lot #:	<b>149</b>
Pen #:	<b>407Y</b>	Consignor:	
Head:	<b>39</b>	Average Weight:	<b>493</b>
Color:		Total Weight:	<b>19233</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOTIC X</b>

**Lot Detail Information**

---

Sequence #:	<b>150</b>	Lot #:	<b>150</b>
Pen #:	<b>502E</b>	Consignor:	
Head:	<b>6</b>	Average Weight:	<b>493</b>
Color:		Total Weight:	<b>2956</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOTIC</b>

**Lot Detail Information**

---

Sequence #:	<b>151</b>	Lot #:	<b>151</b>
Pen #:	<b>W66Y</b>	Consignor:	
Head:	<b>14</b>	Average Weight:	<b>422</b>
Color:		Total Weight:	<b>5906</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOTIC X</b>

**Lot Detail Information**

---

Sequence #:	<b>152</b>	Lot #:	<b>152</b>
Pen #:	<b>141H</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>1196</b>
Color:		Total Weight:	<b>1196</b>
Sex:	<b>HFRS</b>	Breed:	<b>HEIFERETTES</b>

**Lot Detail Information**

---

Sequence #:	<b>153</b>	Lot #:	<b>153</b>
Pen #:	<b>403H</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>774</b>
Color:		Total Weight:	<b>1548</b>
Sex:	<b>HFRS</b>	Breed:	<b>HEREFORD</b>

**Lot Detail Information**

---

Sequence #:	<b>154</b>	Lot #:	<b>154</b>
Pen #:	<b>W68H</b>	Consignor:	
Head:	<b>8</b>	Average Weight:	<b>671</b>
Color:		Total Weight:	<b>5365</b>
Sex:	<b>HFRS</b>	Breed:	<b>HEREFORD</b>

**Lot Detail Information**

---

Sequence #:	<b>155</b>	Lot #:	<b>155</b>
Pen #:	<b>W51H</b>	Consignor:	
Head:	<b>15</b>	Average Weight:	<b>526</b>
Color:		Total Weight:	<b>7893</b>
Sex:	<b>HFRS</b>	Breed:	<b>HEREFORD</b>

**Lot Detail Information**

---

Sequence #:	<b>156</b>	Lot #:	<b>156</b>
-------------	------------	--------	------------

Pen #:	<b>W72H</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>410</b>
Color:		Total Weight:	<b>821</b>
Sex:	<b>HFRS</b>	Breed:	<b>HEREFORD</b>

#### **Lot Detail Information**

---

Sequence #:	<b>157</b>	Lot #:	<b>157</b>
Pen #:	<b>W72L</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>328</b>
Color:		Total Weight:	<b>657</b>
Sex:	<b>HFRS</b>	Breed:	<b>LITTLE</b>

#### **Lot Detail Information**

---

Sequence #:	<b>158</b>	Lot #:	<b>158</b>
Pen #:	<b>133F</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>584</b>
Color:		Total Weight:	<b>584</b>
Sex:	<b>HFRS</b>	Breed:	<b>LONHORN</b>

#### **Lot Detail Information**

---

Sequence #:	<b>159</b>	Lot #:	<b>159</b>
Pen #:	<b>W58P</b>	Consignor:	
Head:	<b>5</b>	Average Weight:	<b>341</b>
Color:		Total Weight:	<b>1706</b>
Sex:	<b>HFRS</b>	Breed:	<b>PEE WEE</b>

#### **Lot Detail Information**

---

Sequence #:	<b>160</b>	Lot #:	<b>160</b>
Pen #:	<b>W69R</b>	Consignor:	
Head:	<b>6</b>	Average Weight:	<b>784</b>
Color:		Total Weight:	<b>4705</b>
Sex:	<b>HFRS</b>	Breed:	<b>RED ANGUS</b>

#### **Lot Detail Information**

---

Sequence #:	<b>161</b>	Lot #:	<b>161</b>
Pen #:	<b>W58R</b>	Consignor:	
Head:	<b>22</b>	Average Weight:	<b>714</b>
Color:		Total Weight:	<b>15716</b>
Sex:	<b>HFRS</b>	Breed:	<b>RED ANGUS</b>

#### **Lot Detail Information**

---

Sequence #:	<b>162</b>	Lot #:	<b>162</b>
Pen #:	<b>W61R</b>	Consignor:	
Head:	<b>23</b>	Average Weight:	<b>632</b>
Color:		Total Weight:	<b>14546</b>
Sex:	<b>HFRS</b>	Breed:	<b>RED ANGUS</b>

#### **Lot Detail Information**

---

Sequence #:	<b>163</b>	Lot #:	<b>163</b>
Pen #:	<b>301R</b>	Consignor:	
Head:	<b>16</b>	Average Weight:	<b>560</b>
Color:		Total Weight:	<b>8955</b>

Sex: **HFRS** Breed: **RED ANGUS**

#### Lot Detail Information

Sequence #:	<b>164</b>	Lot #:	<b>164</b>
Pen #:	<b>W64R</b>	Consignor:	
Head:	<b>7</b>	Average Weight:	<b>494</b>
Color:		Total Weight:	<b>3455</b>
Sex:	<b>HFRS</b>	Breed:	<b>RED ANGUS</b>

#### Lot Detail Information

Sequence #:	<b>165</b>	Lot #:	<b>165</b>
Pen #:	<b>W63R</b>	Consignor:	
Head:	<b>4</b>	Average Weight:	<b>406</b>
Color:		Total Weight:	<b>1626</b>
Sex:	<b>HFRS</b>	Breed:	<b>RED ANGUS</b>

#### Lot Detail Information

Sequence #:	<b>166</b>	Lot #:	<b>166</b>
Pen #:	<b>W60X</b>	Consignor:	
Head:	<b>4</b>	Average Weight:	<b>941</b>
Color:		Total Weight:	<b>3763</b>
Sex:	<b>HFRS</b>	Breed:	<b>RED/BLK EXOTIC</b>

#### Lot Detail Information

Sequence #:	<b>167</b>	Lot #:	<b>167</b>
Pen #:	<b>305X</b>	Consignor:	
Head:	<b>14</b>	Average Weight:	<b>855</b>
Color:		Total Weight:	<b>11969</b>
Sex:	<b>HFRS</b>	Breed:	<b>RED/BLK EXOTIC</b>

#### Lot Detail Information

Sequence #:	<b>168</b>	Lot #:	<b>168</b>
Pen #:	<b>307X</b>	Consignor:	
Head:	<b>26</b>	Average Weight:	<b>788</b>
Color:		Total Weight:	<b>20483</b>
Sex:	<b>HFRS</b>	Breed:	<b>RED/BLK EXOTIC</b>

#### Lot Detail Information

Sequence #:	<b>169</b>	Lot #:	<b>169</b>
Pen #:	<b>306X</b>	Consignor:	
Head:	<b>39</b>	Average Weight:	<b>713</b>
Color:		Total Weight:	<b>27802</b>
Sex:	<b>HFRS</b>	Breed:	<b>RED/BLK EXOTIC</b>

#### Lot Detail Information

Sequence #:	<b>170</b>	Lot #:	<b>170</b>
Pen #:	<b>304X</b>	Consignor:	
Head:	<b>17</b>	Average Weight:	<b>641</b>
Color:		Total Weight:	<b>10901</b>
Sex:	<b>HFRS</b>	Breed:	<b>RED/BLK EXOTIC</b>

#### Lot Detail Information

Sequence #:	<b>171</b>	Lot #:	<b>171</b>
Pen #:	<b>302X</b>	Consignor:	
Head:	<b>10</b>	Average Weight:	<b>559</b>
Color:		Total Weight:	<b>5592</b>
Sex:	<b>HFRS</b>	Breed:	<b>RED/BLK EXOTIC</b>

#### **Lot Detail Information**

---

Sequence #:	<b>172</b>	Lot #:	<b>172</b>
Pen #:	<b>303X</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>485</b>
Color:		Total Weight:	<b>485</b>
Sex:	<b>HFRS</b>	Breed:	<b>RED/BLK EXOTIC</b>

#### **Lot Detail Information**

---

Sequence #:	<b>173</b>	Lot #:	<b>173</b>
Pen #:	<b>508B</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>752</b>
Color:		Total Weight:	<b>752</b>
Sex:	<b>HFRS</b>	Breed:	<b>REPLACEMENT</b>

#### **Lot Detail Information**

---

Sequence #:	<b>174</b>	Lot #:	<b>174</b>
Pen #:	<b>508R</b>	Consignor:	
Head:	<b>17</b>	Average Weight:	<b>743</b>
Color:		Total Weight:	<b>12623</b>
Sex:	<b>HFRS</b>	Breed:	<b>REPLACEMENT</b>

#### **Lot Detail Information**

---

Sequence #:	<b>175</b>	Lot #:	<b>175</b>
Pen #:	<b>W68S</b>	Consignor:	
Head:	<b>12</b>	Average Weight:	<b>742</b>
Color:		Total Weight:	<b>8907</b>
Sex:	<b>HFRS</b>	Breed:	<b>ROANS</b>

#### **Lot Detail Information**

---

Sequence #:	<b>176</b>	Lot #:	<b>176</b>
Pen #:	<b>302G</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>756</b>
Color:		Total Weight:	<b>756</b>
Sex:	<b>HFRS</b>	Breed:	<b>SILVER</b>

#### **Lot Detail Information**

---

Sequence #:	<b>177</b>	Lot #:	<b>177</b>
Pen #:	<b>507G</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>545</b>
Color:		Total Weight:	<b>1634</b>
Sex:	<b>HFRS</b>	Breed:	<b>SILVER</b>

#### **Lot Detail Information**

---

Sequence #:	<b>178</b>	Lot #:	<b>178</b>
Pen #:	<b>T658</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>839</b>

Color:		Total Weight:	<b>839</b>
Sex:	<b>HFRS</b>	Breed:	<b>SINGLE</b>

**Lot Detail Information**

---

Sequence #:	<b>179</b>	Lot #:	<b>179</b>
Pen #:	<b>T668</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>831</b>
Color:		Total Weight:	<b>831</b>
Sex:	<b>HFRS</b>	Breed:	<b>SINGLE</b>

**Lot Detail Information**

---

Sequence #:	<b>180</b>	Lot #:	<b>180</b>
Pen #:	<b>T665</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>726</b>
Color:		Total Weight:	<b>726</b>
Sex:	<b>HFRS</b>	Breed:	<b>SINGLE</b>

**Lot Detail Information**

---

Sequence #:	<b>181</b>	Lot #:	<b>181</b>
Pen #:	<b>T655</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>692</b>
Color:		Total Weight:	<b>692</b>
Sex:	<b>HFRS</b>	Breed:	<b>SINGLE</b>

**Lot Detail Information**

---

Sequence #:	<b>182</b>	Lot #:	<b>182</b>
Pen #:	<b>T656</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>647</b>
Color:		Total Weight:	<b>647</b>
Sex:	<b>HFRS</b>	Breed:	<b>SINGLE</b>

**Lot Detail Information**

---

Sequence #:	<b>183</b>	Lot #:	<b>183</b>
Pen #:	<b>T659</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>533</b>
Color:		Total Weight:	<b>533</b>
Sex:	<b>HFRS</b>	Breed:	<b>SINGLE</b>

**Lot Detail Information**

---

Sequence #:	<b>184</b>	Lot #:	<b>184</b>
Pen #:	<b>T657</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>616</b>
Color:		Total Weight:	<b>616</b>
Sex:	<b>HFRS</b>	Breed:	<b>SINGLE</b>

**Lot Detail Information**

---

Sequence #:	<b>185</b>	Lot #:	<b>185</b>
Pen #:	<b>T661</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>534</b>
Color:		Total Weight:	<b>534</b>
Sex:	<b>HFRS</b>	Breed:	<b>SINGLE</b>

**Lot Detail Information**

---

Sequence #:	<b>186</b>	Lot #:	<b>186</b>
Pen #:	<b>T663</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>522</b>
Color:		Total Weight:	<b>522</b>
Sex:	<b>HFRS</b>	Breed:	<b>SINGLE</b>

**Lot Detail Information**

---

Sequence #:	<b>187</b>	Lot #:	<b>187</b>
Pen #:	<b>T669</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>517</b>
Color:		Total Weight:	<b>517</b>
Sex:	<b>HFRS</b>	Breed:	<b>SINGLE</b>

**Lot Detail Information**

---

Sequence #:	<b>188</b>	Lot #:	<b>188</b>
Pen #:	<b>T667</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>507</b>
Color:		Total Weight:	<b>507</b>
Sex:	<b>HFRS</b>	Breed:	<b>SINGLE</b>

**Lot Detail Information**

---

Sequence #:	<b>189</b>	Lot #:	<b>189</b>
Pen #:	<b>T666</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>497</b>
Color:		Total Weight:	<b>497</b>
Sex:	<b>HFRS</b>	Breed:	<b>SINGLE</b>

**Lot Detail Information**

---

Sequence #:	<b>190</b>	Lot #:	<b>190</b>
Pen #:	<b>T662</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>475</b>
Color:		Total Weight:	<b>475</b>
Sex:	<b>HFRS</b>	Breed:	<b>SINGLE</b>

**Lot Detail Information**

---

Sequence #:	<b>191</b>	Lot #:	<b>191</b>
Pen #:	<b>T660</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>295</b>
Color:		Total Weight:	<b>295</b>
Sex:	<b>HFRS</b>	Breed:	<b>SINGLE</b>

**Lot Detail Information**

---

Sequence #:	<b>192</b>	Lot #:	<b>192</b>
Pen #:	<b>W59S</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>344</b>
Color:		Total Weight:	<b>689</b>
Sex:	<b>HFRS</b>	Breed:	<b>SMALL</b>

**Lot Detail Information**

---

Sequence #:	<b>193</b>	Lot #:	<b>193</b>
-------------	------------	--------	------------

Pen #:	<b>133D</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>319</b>
Color:		Total Weight:	<b>319</b>
Sex:	<b>HFRS</b>	Breed:	<b>SMALL</b>

**Lot Detail Information**

---

Sequence #:	<b>194</b>	Lot #:	<b>194</b>
Pen #:	<b>300S</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>744</b>
Color:		Total Weight:	<b>2233</b>
Sex:	<b>HFRS</b>	Breed:	<b>SPECKLE PARK</b>

**Lot Detail Information**

---

Sequence #:	<b>195</b>	Lot #:	<b>195</b>
Pen #:	<b>W72S</b>	Consignor:	
Head:	<b>8</b>	Average Weight:	<b>601</b>
Color:		Total Weight:	<b>4810</b>
Sex:	<b>HFRS</b>	Breed:	<b>SPECKLE PARK</b>

**Lot Detail Information**

---

Sequence #:	<b>196</b>	Lot #:	<b>196</b>
Pen #:	<b>W51S</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>516</b>
Color:		Total Weight:	<b>1548</b>
Sex:	<b>HFRS</b>	Breed:	<b>SPECKLE</b>

**Lot Detail Information**

---

Sequence #:	<b>197</b>	Lot #:	<b>197</b>
Pen #:	<b>E14E</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>1350</b>
Color:		Total Weight:	<b>1350</b>
Sex:	<b>HFRS</b>	Breed:	<b>YEARLING</b>

**Lot Detail Information**

---

Sequence #:	<b>198</b>	Lot #:	<b>198</b>
Pen #:	<b>E13E</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>1080</b>
Color:		Total Weight:	<b>1080</b>
Sex:	<b>HFRS</b>	Breed:	<b>YEARLING</b>

**Lot Detail Information**

---

Sequence #:	<b>199</b>	Lot #:	<b>199</b>
Pen #:	<b>E28Z</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>958</b>
Color:		Total Weight:	<b>958</b>
Sex:	<b>HFRS</b>	Breed:	<b>YEARLING</b>

**Lot Detail Information**

---

Sequence #:	<b>200</b>	Lot #:	<b>200</b>
Pen #:	<b>141Q</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>866</b>
Color:		Total Weight:	<b>866</b>

Sex: **HFRS** Breed: **YEARLING**

**Lot Detail Information**

---

Sequence #:	<b>201</b>	Lot #:	<b>201</b>
Pen #:	<b>E29L</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>812</b>
Color:		Total Weight:	<b>812</b>
Sex:	<b>HFRS</b>	Breed:	<b>YEARLING</b>

**Lot Detail Information**

---

Sequence #:	<b>202</b>	Lot #:	<b>202</b>
Pen #:	<b>E36Z</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>751</b>
Color:		Total Weight:	<b>751</b>
Sex:	<b>HFRS</b>	Breed:	<b>YEARLING</b>

**Lot Detail Information**

---

Sequence #:	<b>203</b>	Lot #:	<b>203</b>
Pen #:	<b>E24K</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>572</b>
Color:		Total Weight:	<b>572</b>
Sex:	<b>HFRS</b>	Breed:	<b>YEARLING</b>